Find the 10th term in each sequence.
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What's the 100th term?

1. 11,17,23,29,...
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This is an
Exponential Equation
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What's the 100th term?
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Linear Function:

¢ Equation can be expressed in the form: y=mx+b

e Has alConstant Rate of Change >~ S Lop<

¢ Largest exponent on the variable is 1
e Graph is aline




The following table represents a linear function.
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The following is another method to find the Slope-Intercept Eq of
a line using coordinates of two points:

Write ay = mx + b equation (Slope-Inercept Eq)
to model this data.
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Exponential Function:

¢ Created by repeatedly multiplying

some initial value by a constant.
2

¢ An equation where the independent variable
is located in the exponent.

¢ Equation has the following form: y = a.b*



